
ID QTY REFPIEZA/PART DESCRIPCIÓN DESCRIPTION

www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

Pg. 1/2

20 min

ALLEN

Nº 3
Nº,4

KAWASAKI Z650 ‘17-’19

1 Person

4

3

1

2

4

4

1

1

TORNI-I7380-493

9371J/CM3

9371J/CM3

Arandela de nylon M5x1

Tornillo Allen M5x16 ISO7380

Tapa radiador derecha

Tapa radiador Izquierda

M5x1 nylon washer

M5x16 ISO7380 Allen screw

Right radiator side cover

Left radiator side cover

EASY

M O U N T I N G  I N S T R U C T I O N S

R A D I ATO R  S I D E  COV E R SREF 9371

Illustrations and layout by: www.ciandisseny.com



www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

I N S T R UCC I ONE S  DE  M ON TA J E  -  MOU N T IN G  IN S T R U C T IO N S  -  M O N TAG E A N L E IT U N G

Pg. 2/2

Se muestra el montaje del lado izquierdo a modo de ejemplo, realizar los mismos pasos para el montaje  del lado derecho.
The left side assembly is shown as an example, so the same steps can be performed for the right side assembly.

KAWASAKI Z650 ‘17-’19

2

43

1
ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE

DISASSEMBLY
DESMONTAJE

DISASSEMBLY
DESMONTAJE

Illustrations and layout by: www.ciandisseny.com

4
32

A

4
3

PIEZA ORIGINAL
ORIGINAL PARTA


